1. A AT abcoA st a+b+c=2,a2+b>+c% =6, abc = -1
A ], a3 + b+ 9] F2?

@11 @ 12 ® 13 @ 14 ® 15
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(a+b+c)?=a%+b?+ 3+ 2(ab + be + ca)
ab+bc+ca= -1

a+ b+ 8

= (a+b+c)(a®+b?+c?—ab - bc - ca) + 3abc
—2x(6-(-1))-3=11




O (x—a)(x-b)(x-c)=x>—(a+b+c)x?
+(ab + bc + ca)x — abc
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@ (x+a)(x+b)(x+c)=x3+(a+b+c)x?
+(ab + bc + ca)x + abc

® (a+b+c)(a®+b*+c?—ab-bc—ca) =a®+b>+ ¢ - 3abc
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DO x2+x+1 @ x2-x+1 (@)x2+ V3x+1
@ x4+ V3x-1 ® x2-1

(EH) = ()7 +1
=+ -x2+1)
= (x* + 1){(x® + 1)% - 3x?}
= (x2 +1)(*% - V3x+ 1)(x®> + V3x+ 1)
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6. XX4+xy-22-2x-y+ 1S A5EdfctH?

@ (x4y-1D)(x+2y-1) @ (x-y-1)(x+2-1)
® (x-y+1(x+2y-1) @ (x-y-1D(x+2y+1)

® (x+y+1)(x+2y-1)
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PHy-2)x-2%-y+1

={x-(Q+DHx+ (2y-1)}
=(x-y-1)(x+2y-1)




I~

7. AN2OEA ASEx, oy, 2ol ot 23 +y% + 23 = 3xyz & S o,
x+y+z9 q2?

@o @ 1 ® 2 @ 3 ® 4

2+ 33+ 23 - 3xyz
=(x+y+2)(*FP+y*+22-xy-yz—zx) =0
(x+y+2)=0F=2+y*+22-xy-yz-2zx=0
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2003 = x=F FH 2004 = x + 1
(x+1)3-x*-1
x(x+1)
3x(x+1)
= — =3
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9. (x-1)(x=3)(x=5)(x-7) + a7}t 1A 2] FAAFo] HEE 4]
A= AstH?
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(F2)= (¥ -8x+ 7)(x? —=8x+15) +a
A71A, x> -8x+T=X=2 =°H
(FA) =X(X+8)+a

=X?+8X+a=(X+4)>+a-16
A a = 16
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x+y=2 x4y =144 o, x° 4+ y° o] gt-Z SHHE?

O 12 @ 32 ® 52 @82 ® 102
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B4y = (P + ) +5) = Py (x+y) - (%)
B +yd = (x+)° - 3xy(x +y)

. 14 = 8 — 6xy
xy:_l ...... @
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a+ b9 F2?

®-1 @0 ® 1 @2 @3

B

f(x) = px3 + ax? + gx+ bt 514
f(1) =2, f(-1) =4°lA
ptat+tq+b=2---Q
pra-—q+b=4--©
9+ O©E 5
2a+b)=6,a+b=3




13. o34 f(x)E 2% -3x+ 22 s 1] Y27} 30]3, x2 —4x + 3
o2 tHs fo] Yo7} 3x < w, £(x) 5 2% - 5x+ 602 U wj <]
Lo} 2] =9

@ 3 @ 3x+3 ® 3x-3

a=6, b=-9
SHHA = 6x -9
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0(x) & x - 12 Y UM & 51?7

@ -3 @ -2 3 -1 @ 0 @1
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X430 = (x + 1)O(x) + R °J} 3ha
x=-12HYstH R =29

Xt +30 = (x+1)Q(x) + 29
0(x)E x— 18 the Yoz
0(1), x =149 ti¢}

31=20(1) +29
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15. A7 Al ¥e] Aol a,b, c Aol a® +a*b—ac® +ab® +-b> ~bc* = 0
o

® a=b3l oI5 @ (A =90°¢ A7
®b=cdolsagad  @)c-90°237
® 347

a’® + a*b — ac® + ab® + b* - bc®> =0

a*(a+b)+b*(@a+b)—c*(a+b) =0

(a+b)(a®>+b?>—c?) =0

a=-b B 2 =d*+b?

a,b,c B FolBg2 2 =42 4 p?
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